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@) V=Clxl, fil+2) =2, il +x+2°) = 0, i(x) = =1, (1 +x) = 2, (1 +x+x%) = 0, fo(x) =
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(1) fi € ClxL)" fi(F(x)) = F(0), 2(F(x)) = F(1), 5(F(x)) = F(-1)
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A-11-4. (000 0]

000000000000 D000000D000ooDOoDoOoooOon

() V=Cv, ='(1,1,2),v, =(0,0,1),v; = (1,0, 1)

Q) V=C3v, ='(1,0,1),v, =(0,1,2),vs = (1,1, 1)

3) V=C%v =0,1,0),v, =(0,0,1),v3 = (1,0, 0)

B-11-1. (0000
O000000000ooooooooooooooooog

B-11-2. (0000000 00000O00O]

000000 VvVOOOv, -, 000000 w,-,w, 0000VO000 (x1,---,x,) =
Wi, ,v)PO0O000Ox, - ,x,00000y, - ,y,0 0 =wEp)Y0ODOODOOO
00

B-11-3.[000000000]

1

R[x]zDD—lDD1DDDDDff(x)g(x)dx[]DDDDDDDDDDDDDDDDDDD
-1

ooooooooo

(D {1, x, x*} ) {1 +x,x+ x*, 1}
B-114. (0000000000 O00O0O)]

wcecviOUoDoDoooooooo{feviDODOvewddoo f»p=0000 V" ODOOO
gobobboooobobobooooboboooobobbuoooobo

C-11-1.[coooooooo]
O0OR‘'0O000000O000O000O00ODO00000O0000O00O0N0OOOOOooOoQ
ooooo



C-11-2. (00007
00000000 /:C->C (=1,2,3)00000000000000

fl(()’oa 1) = 19f1(1’29 1) = l,fl(_1,2,3) =-1
£00,1,0) =1, £(2,1,1) =0, £(12,3,-1) =1
f:(1,0,0) = -1, f5(1,1,2) = -1, 5(3,-1,2) =0
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